
Au

présent

de l’indicatif, les

verbes en « »

n’ont pas de régularité.

Il faut donc apprendre 

leur conjugaison par 

cœur !



J’ai

Tu as

Il/Elle/On a
Nous avons

Vous avez
Ils/Elles ont



Je dois

Tu dois

Il/Elle/On doit
Nous devons

Vous devez

Ils/Elles doivent



Je peux

Tu peux

Il/Elle/On peut
Nous pouvons

Vous pouvez

Ils/Elles peuvent



Je vois

Tu vois

Il/Elle/On voit
Nous voyons

Vous voyez

Ils/Elles voient



Je veux

Tu veux

Il/Elle/On veut
Nous voulons

Vous voulez

Ils/Elles veulent


